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# 1)

library(tm)

txt <- system.file("texts", "txt", package="tm") # tm IHI|XI2 texts/txt ZZ : ./R/win-
library/3.5/tm/texts/txt

# 2)
ovid <- Corpus(DirSource(txt), readerControl=1list(language="1lat")) # 5Ji°2 text
files (ovid_1.txt ~ ovid_5.txt)

# 3)

getReaders() # a character vector with readers provided by package tm
###

## [1] "readDataframe" "readDOC"

## [3] "readPDF" "readPlain"

## [5] "readRCV1" "readRCV1asPlain"

## [7] "readReut21578XML" "readReut21578XMLasPlain"

## [9] "readTagged" "readXML"

# 4)20/8 S4l A GIOIEI2 21578742 2A
#  (EZ, MXA, =X S0l e OEdiole EM)zg 74
reut21578 <- system.file("texts"”, "crude”, package = "tm")

# 5)
(reuters <- Corpus(DirSource(reut21578),
readerControl = list(reader = readReut21578XML)))

(reuters <- Corpus(DirSource(reut21578),
readerControl = list(reader = readReut21578XMLasPlain)))

#
inspect(reuters[1:3]) # SIS 3o 2N HE

Z1f:

> reut21578 <- system.file("texts", "crude", package = "tm")

>

\%

# 5)

> (reuters <- Corpus(DirSource(reut21578),

+ readerControl = list(reader = readReut21578XML)))
## <<VCorpus>>

## Metadata: corpus specific: @, document level (indexed): ©
## Content: documents: 20

>


af://n0
af://n3

> (reuters <- Corpus(DirSource(reut21578),

+ readerControl = list(reader = readReut21578XMLasPlain)))
## <<VCorpus>>

## Metadata: corpus specific: @, document level (indexed): ©
## Content: documents: 20

>

> #

> inspect(reuters[1:3]) # A0S0 3o 2A HE

## <<VCorpus>>

## Metadata: corpus specific: @, document level (indexed): ©
## Content: documents: 3

##

## [[1]]

## <<PlainTextDocument>>

## Metadata: 16

## Content: chars: 527

##

## [[2]]

## <<PlainTextDocument>>

## Metadata: 16

## Content: chars: 2634

#it

## [[3]]

## <<PlainTextDocument>>

## Metadata: 16

## Content: chars: 330

2. WIE] A A (docs) 2 HE{ 210{ £0|7|:0..

#6)
docs <- c¢("This is a text","This another one.", "My name is Eric")
Corpus(VectorSource(docs))

#7)
docsCorpus <- Corpus(VectorSource(docs))
writeCorpus(docsCorpus)

# docsCorpus? WE 2|

inspect(docsCorpus[1:3])

docsCorpus|[[1]]Scontent
docsCorpus[[2]]Scontent
docsCorpus|[[3]]Scontent

Z1f:

> docs <- c("This is a text","This another one.", "My name is Eric")
> Corpus(VectorSource(docs))

## <<SimpleCorpus>>

## Metadata: corpus specific: 1, document level (indexed): ©

## Content: documents: 3

>

> # 7)

> docsCorpus <- Corpus(VectorSource(docs))

> writeCorpus(docsCorpus)


af://n11

3.

Z

>
> # docsCorpus? UE 2|

> inspect(docsCorpus[1:3])

## <<SimpleCorpus>>

## Metadata: corpus specific: 1, document level (indexed): ©
## Content: documents: 3

#it

## [1] This is a text This another one. My name is Eric

>

> docsCorpus|[[1]]Scontent

## [1] "This is a text"

> docsCorpus[[2]]Scontent

## [1] "This another one."

> docsCorpus[[3]]Scontent

## [1] "My name is Eric"

xml 2AE tm_map() O| 25| A] Bl A Z FZH6}7|

# A=Y 2A2 directory path &2

reut21578 <- system.file("texts", "crude”, package = "tm")

# XML 2l (readReut21578XML)E Sl M AS
(reuters <- Corpus(DirSource(reut21578), readerControl = list(reader =
readReut21578XML)))

# 8) XMLEAMZE text(PlainTextDocument)Z& & &
reuters <- tm_map(reuters, PlainTextDocument)

# *xx ==X HH (removeNumbers)
reuters <- tm_map(reuters, removeNumbers)

# 9) =2t2| B (stripWhitespace) XA
reuters <- tm_map(reuters, stripWhitespace)

#10) 2N 25 AEXNZ B (content_transformer(tolower))dtN
# AES LHE HIWE > JAEE HFS
r

reuters <- tm_map(reuters, content_transformer(tolower))

# 11-1) 202 stopwords KA (ZIHAII}F AIH S2 WE HHAH)
reuters <- tm_map(reuters, removeWords, stopwords("english"))

# xx A58 HMA

reuters = tm_map(reuters, removePunctuation, preserve_intra_word_dashes = TRUE)

#11-2) SEEj2 24

H

EECZ [ HRHS(UHEIU S+EE EEECE HIAS)

0gt

library(SnowballC)
tm_map(reuters, stemDocument)

of:


af://n16

> # XML 2l (readReut21578XML)E Sdl =M HS

> (reuters <- Corpus(DirSource(reut21578),

readReut21578XML)))
<<VCorpus>>

Metadata:
Content: documents:

> # 11-2)

SElL &4

> tm_map(reuters, stemDocument)

<<VCorpus>>
Metadata:
Content: documents:

>

4.9

e R g

#12) 2N BHS S0 2t AIEWHER
dtm <- DocumentTermMatrix(reuters, control=1list(weighting=weightTf)

inspect(dtm[1:5,1:5])

# 13) 103 0142 BIE0f Ot W]

findFreqTerms(dtm, 10

)

[0 =
oy

corpus specific: @, document level (indexed): ©
20

P HEECZ O HRHS(MAHEOIL =828 HEE

corpus specific: 0, document level (indexed): ©
20

H|

A=
LT ]

# 14) opec? &2t It 0.8 0[&0] &0 DI

findAssocs(dtm, "opec

# 15) slAas HOE MA

" 8.6)

otd

dtm2 <- removeSparseTerms(dtm, 0.2)

dtm2

Z1f:

> # 12) 2N BHES2 ©0 2t AIBHE=R &
> dtm <- DocumentTermMatrix(reuters, control=1list(weighting=weightTf))

> inspect(dtm[1:5,1:5
##

)

<<DocumentTermMatrix (documents: 5, terms: 5)>>

## Non-/sparse entries: 1/24

## Sparsity : 96%

## Maximal term length: 10

## Weighting : term frequency (tf)

## Sample

## Error in "[.simple_triplet_matrix (x, docs, terms)

##  Repeated indices currently not allowed.

>

> # 13) 103l Ol&2 BIEN &0t WD

> findFreqTerms(dtm, 10)

## [1] "barrel" "barrels" "bpd" "crude"

## [6] "feb" "government" "group" "industry"
## [11] "last" "mar" "march" "market"
## [16] "minister" "mln" "new" "official"
## [21] "one" "opec” "output” "pct"

## [26] "price" "prices" "production” "reute"

## [31] "said" "saudi” "sheikh" "will"

>

> # 14) opec? &ZAH=It 0.8 O[&0l SO &I

0/ 83t matrix

Z o=
= — —

BIE+E 0|20t matrixE 2UE=

readerControl = list(reader =

ogr

CZ HIRS

pNe;]
==

"dlrs"
"kuwait"
"meeting"”
"oil"
"petroleum”
"reuter”
"world"

)

el
=


af://n22

> findAssocs(dtm, "opec", 0.6)

## Sopec

#it analysts buyers
#i# 0.86 0.84
## named emergency
## 0.83 0.81
#i# clearly demand
## 0.76 0.76
## reports trying
## 0.76 0.76
#it addressed advantage
## 0.75 0.75
#t analyst analystsby
## 0.75 0.75
## bcopec-maymee bijan
## 0.75 0.75
## center cera
## 0.75 0.75
## closer condition
## 0.75 0.75
#it crudeusaopecy cutting
## 0.75 0.75
#it david deemed
## 0.75 0.75
## earlier easy
## 0.75 0.75
## environment excess
## 0.75 0.75
#t faces firm
## 0.75 0.75
#it immediately initiative
## 0.75 0.75
## keep learn
## 0.75 0.75
#t manager mideast
#it 0.75 0.75
## moussavar-rahmani movement
## 0.75 0.75
## optimistic organization
## 0.75 0.75
1 principal problem
## 0.75 0.75
#it prompted quarter
## 0.75 0.75
#t regain regional
## 0.75 0.75
# rising salomon
## 0.75 0.75
#it session slackens
## 0.75 0.75
#it sort spoke
## 0.75 0.75
#it teach ted
## 0.75 0.75
it together told
## 0.75 0.75
#it universitys unlikely
## 0.75 0.75

meeting
0.84

said

0.78
differentials
0.76
winter
0.76
although
0.75
anything
0.75
brothers
0.75
characterized
0.75
control
0.75
dafflisio
0.75
dillard
0.75
editor
0.75
excesses
0.75
harvard
0.75
issue
0.75
lesson
0.75
mizrahi
0.75

need

0.75

paul

0.75
problems
0.75
quotas
0.75
reiterate
0.75
scheduled
0.75
slide
0.75
spriggs
0.75
telephone
0.75

try

0.75
wants
0.75

0il

0.84
agreement
0.77

late

0.76
address
0.75
analysis
0.75
associates
0.75
cambridge
0.75
cheating
0.75
critical
0.75
daniel
0.75
director
0.75
eight
0.75
expects
0.75
however
0.75

june

0.75

1td

0.75
mlotok
0.75
optimism
0.75
pessimistic
0.75
production
0.75
readdress
0.75
reuters
0.75
seeing
0.75

soon

0.75
supply
0.75
thought
0.75
uncertain
0.75
wishes
0.75



V.

Z

## yergin prices
## 0.75 0.74
## opecs set
#i#t 0.71 0.71
## current meet
## 0.68 0.68
## come fixed
## 0.67 0.67
## next now
## 0.62 0.61
#it

>

> # 15) 3|48 HHE MG

> dtm2 <- removeSparseTerms(dtm, ©.2)

> dtm2

## <<DocumentTermMatrix (documents: 20, terms:
## Non-/sparse entries: 80/0

## Sparsity T 0%

## Maximal term length: 6

## Weighting : term frequency (tf)
o = o

9lc gateE

library(wordcloud)

24

#16) ©0{2 BISE JH4totn, BIE UWEX=2e=z2 J3E

freq <- colSums(as.matrix(dtm2))

04

freq2 <- apply(as.matrix(dtm2), 2, function(x)

barplot(freq2)

ability
0.72

bpd

0.69

must

0.68
interview
0.67
december
0.60

4)>>

sum(x>0))

#17) HAE JIIU M2 S VB FI, YS Z4RE US|

wordcloud(names(freq2), freq2, colors=rainbow(20))

It1: barplot()

markets
0.71
never
0.69
sell
0.68
may
0.67
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20
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oil reute reuter said

Z1t2: wordcloud()
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reute
reuter
said
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